° Subtracting 3-Digit Numbers from 3-Digit c
Numbers - No Exchanging

LO: to use column subtraction
Calculate the answer to the following:

1_4
_60
43 _

569 346 774 652
315 ~ 125 ~ 453 " 420
_ 628 _ 573 832 599
305 512 232 L67
298 687 988 768
136 471 ~ 575 ~ 251
_ 555 596 _ 368
345 374 220
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° Subtracting 3-Digit Numbers from 3-Digit c
Numbers - No Exchanging

LO: to use column subtraction
Calculate the answer to the following:

Challenge: Complete the following calculations:

347 548 794
_ 214 302 360
133 246 434

569 346 774 652

315 ~ 125 ~ 453 " 420
_ 254 _ 221 _ 321 _ 232
_ 628 _ 573 832 599

305 512 232 L67

323 61 600 132
298 687 988 768

136 471 ~ 575 ~ 251
162 216 413 517
_ 555 596 _ 368

345 374 220

210 222 148
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